
What does he do ?      He is a …………. . 

a. businessman.                b. housewife.                  c. engineer.

Where does she work ?     She works in ……….. . 

a. school.                          b. hospital.                      c. space station.              

Who is he ?

a. Ahmad.                         b. He is Ahmad.               c. He Ahmad. 

Worksheet

Name :  ………………………………………..                     Class :  …………………

Choose the correct answer:

Unit : 6 
Jobs 

Phonics :

1- Light

Match the word with the correct picture : 

Day :  ………………………………………..                         Date : 4 - 6 - 1445 

2- Knife

3- Right



3- He is a pilot. 

Fill in the blank : gh

2- They are engineers.

1- She is a doctor. 

4- They are cook.

Homework

Name :  ………………………………………..                     Class :  …………………

Match the sentence with the correct picture:

Unit : 6 
Jobs

Day :  ………………………………………..                         Date : 11 - 6 - 1445 

 __   __ ee. Ni __ __ t. __ __ ock.

Kn 


